Total Pages—8 C/17/B.Com./Part-1II(EG)/3T{N)/G-6

NEW

Part-III 3-Tier
2017~
MICRO AND MACRO ECONOMICS
{(General)
PAPER—G-6
Full Marks : 100
Time : 3 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

"l,
»
own words as far as practicable.

Nlustrate the answers wherever necessary..

Group—A
{ Micro Economics }

[Marks : 45]

1. Answer any one question : " 1x15

.
{(a) Briefly explain the reason for which indifference curve

is convex to the origin. Using indifference curve, how
would you prove law of demand? 5+10

{Turn Over)



(b} Explain with example the concepts of fixed cost and
variable cost. With the help of suitable diagram
explain the relationship among Average Fixed Cost,
Average Variable Cost, Average Cost and Marginal
Cost curves. 5+10

(c) What are the characteristics of perfectly competitive
market ? Explain how the equilibrium of a perfectly
competitive firm is detérmined in the short run.

5+10

2. Answer any three questions : 3x8

{a) What do you mean by price elasticity of demand ?
What are the factors on which elasticity of demand
of a good depends ? — Discuss. 2+6

(b) What is law of variable proportions? What is
Isoquant ? Discuss its properties. 2+2+4

(c} Define price effect and income effect. With the help'
of a diagram show how a demand curve is derived
from a price consumption curve. 2+2+4

(d) Write the characteristics of monopoly market. What
do you mean by price discrimination in monopoly
market? What are the different types of price
discrimination. 34243

(e) Define total, average and marginal revenue. What are
the equilibrium conditions of a firm ? 2+2+432+2
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3. Answer any two questions : : 2x3

(a} Explain the law of Equimarginal Utility.

{b} What do you mean by change in demand and change
in quantity demanded ?

{c) Explain the concepts of returns to a factor and
returns to scale.

(d) Distinguish between giffen good and an inferior good.

Group~-B
{ Macro Economics )

[Marks : 45]

. Answer any one question : 1x15.

{a) Explain different methods of estimating :'national
income. Write down the problems of national income
accounting. ; . 10+5

(b) Explain the Keyensian Investment multiplier theory.
Describe its limitations. 10+5

|
(¢) What are the functions of Commercial banks ?
Explain credit creation process of Commerciql banks.
5+10
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5. Answer any three questions : 3x8

p .
(a) Explain how equilibrium National income is

determined in a simple Keyensian model. 8

(b} What is investment multiplier ? How it is related to

MPC ? 246

{c} Explain briefly the credit control weapons of Central
bank. ) 8

(d) What are the reasons for which inflation occurs?
Explain the various measures adopted to curb
inflation. 4+4

(e) With the help of a single diagram define the various
phases {Depression, Revival, Boom and Recession} of - -
business cycles. 2x4 4

6. Answer any two questions : 2x3
(a) What is the difference between GNP aﬁd GDP?

- (b) What will be the value of multiplier, if MPC = 0;75 ?

(¢) What are the important functions of Central bank ?

(d) What is the difference between demand-pull and cost-
" push inflation ?

[ Internal Assessment — 10 Marks]
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